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1. ¶ü¯š» ‰“§¯æ¸ œÞ‰²Ò˜¸ ¶ü¯š» ã²Ÿ¸˜‰ ¥³ãÌ°§¯—¸. A, B, C, D †Ò± œ¯§¸ ¿À¥
¶‰¯•²‰¨°§²á ¶ü¯š» ã²Ÿ¸˜‰Ä¨¯—¸ œÞ‰²Ò˜¸.

2. ¶ü¯š» ã²Ÿ¸˜‰Ì°µú £²‰¨°Þ ƒ“˜¸ ª«Ì¸ ½ã¶˜»‰ ¶‰¯¨Ì°Þ ¶ü¯š» ã²Ÿ¸˜‰ ¿À¥
¶‰¯•¸ ¿Å“°Å°È²Ê¸.

3. ˆ¯¶¥¯ „¶š»¯‹¯Ü˜¸™°¾²¹ œÞ‰°¤°È²á ¶ü¯š» ã²Ÿ¸˜‰ ¿À¥ ¶‰¯•¸ ¿ª¥²µ“ ã¥±À¯
®¯¨°µ§ ƒ¥°Ô°“Ì°Þ ¶¥ŠµÔ“²Ì°¤°¥°¾²¹.

4. œ°Äà¾œ²ªš°Å°¥°¾²Ò ¿À¥ ¶‰¯•°Þ œ°Ò²¹ ª»˜»Ÿ¸˜£¯¤ ¶‰¯•°§²á ¶ü¯š»
ã²Ÿ¸˜‰£¯—¸ §¢°¾²Òµ˜Ã°Þ ¿˜¸ „“œ“° ƒÏª°×°¶§Ý¦²µ“ ½«Î¤°ÞµÔ“²¶ÌÊ˜¯—¸.

5. ¶ü¯š» ã²Ÿ¸˜‰ ½‰£œØÜ ã²¦¹üÈ¤²µ“ ª§˜²ª«Ì¸ £²‰¨ÝÌ¯¤° ¶üÜÌ°È²Ê¸. ½‰£ œØÜ
ƒß¯Ì ¶ü¯š» ã²Ÿ¸˜‰£¯—¸ œ°Äà¾¸ §¢°¾²Òµ˜Ã°Þ ¿¶˜ ¿À¥ ¶‰¯•°§²á  ¶ü¯š»
ã²Ÿ¸˜‰¹ £¯Ý° ª¯Ä²‰.

6. ¶ü¯š» ã²Ÿ¸˜‰¹ ª§˜² £¯Ü×°œ°Þ £Î» ¢¯‹Ì¯¤° Ÿ±Þ µü¤¸˜°¥°¾²¹. „Ì¥µ£©²˜¯œ²á
¿œ²£˜° §¢°Å¯§ß¯µ˜ ¶ü¯š» ã²Ÿ¸˜‰¹ ˜²¦¾¯Ï ã¯“°ß.

7. ã¥±À ̃ ²“Ä°¤¯§²“Ï „¶š»¯‹¯Ü˜̧™° ̃ œ°¾̧ §¢°Å°¥°¾²Ò ¶ü¯š» ã²Ÿ̧˜‰Ì°Þ 100 ¶ü¯š»Ä¨²¹
½‰££¯¤° „¶Ê¯ †Ò̧ ã¥°¶«¯›°¶¾Ê˜¯—̧. ¶ü¯š» ã²Ÿ̧˜‰Ì°Þ ¿Å“°¾¯Ì¶˜¯, ‰±¦°¤¶˜¯,
ª°È²¶ã¯¤¶˜¯ ‚¤ ¶ã×²‰à „Ê¯‰°ß; ¿™ª¯ „µÊÃ°Þ ¿¾¯¥»¹ ƒÏª°×°¶§Ý¦²µ“ ½«Î¤°Þ
µ‰¯Ê²ª¥°‰¤²¹ ¿¶˜ ¿À¥ ¶‰¯•°§²á ã³ÜË£¯¤ ¶ü¯š» ã²Ÿ̧˜‰¹ £¯Ý° ª¯Ä²‰¤²¹
µü¶ÛÊ˜¯—̧. ƒ˜̧ ‡Ýª²¹ ½ã›¯œµÔÈ˜¯—̧.

8. ¶ü¯š» ã²Ÿ¸˜‰Ì°µú ¿ªŸ¯œ¹ ˆÒ²¹ †©²˜¯Ì ˆ¥² ‰“§¯Ÿ¸ ¶üÜÌ°È²Ê¸. ƒ˜¸ „Ì¥¹
‰Ê²ã°“°¾²Ò˜°œ²á ‰²¦°Ô²‰à¾¯¤° „ã¶¤¯‹°¾¯ª²Ò˜¯—¸.

9. „Ì¥Äà ¶¥ŠµÔ“²Ì¯Ï ‚¥¹¢°¾²Ò˜°œ¸ £²Ø¸ „Ì¥¾“§¯æ°µú £¦²ã²¦Ì²á
œ°Ü¶Í«Äà ½«Î¯ã³Üâ¹ ª¯¤°¾²‰.

10. «¥°¤²Ì¥¹ „àµÔµ“ ̂ ¯¶¥¯ ¶ü¯š»Ì°œ²¹, (A), (B), (C), (D) †Ò œ¯§̧ „Ì¥Äà ̃ Ò°¥°¾²¹.
«¥°¤²Ì¥¹ µ˜¥µÇ“²Ì̧ ̂ .†¹.‚Ü.„Ì¥¾“§¯æ°Þ ¡œ̧›µÔÈ ¶ü¯š» œØ¦°œ̧ ¶œµ¥¤²á
«¥°¤²Ì¥¹  Ÿ³ü°Ô°¾²Ò  ‰²£°¨  (¡¡°à)  £¯½˜¹  œ±§¶¤¯  ‰¦²¶Ô¯  ¡¯à  ¶ã¯¤°ú ̧  ¶ãœ
„ã¶¤¯‹°Å¸ ‰¦²Ô°¾²‰.

11. ˆ¯¶¥¯ «¥°¤²Ì¥Ì°œ²¹ ˆ¥² £¯Ü¾¸ §¢°¾²‰¤²¹ ˆ¯¶¥¯ µ˜Ý²Ì¥Ì°œ²¹ 1/3 £¯Ü¾¸
œ¬¸“£¯ª²‰¤²¹ µüÛ²¹. „Ì¥¹ ¶¥ŠµÔ“²Ì¯Ì ¶ü¯š»Äà¾¸ £¯Ü¾¸ œ¬¸“£¯ª²‰¤°ß.

12. ã¥±À¯ Ÿ£¤¹ ‰©°¤²Ò˜°œ¸ £²¶Ø¯, „Ì¥¾“§¯Ÿ¸ ƒÏª°×°¶§Ýµ¦ ‡ÞÔ°¾¯µ˜¶¤¯ ˆ¥²
„¶š»¯‹¯Ü˜¸™°¤²¹ ã¥±À¯®¯à ª°È¸ ã²¦Ì²¶ã¯‰¯Ï ã¯“°ß.

13. œ°Ü¶Í«Äà ‰Ü«œ£¯¤° ã¯§°¶¾Ê˜¯—¸. ã¥±À¤°Þ ½‰£¶¾“¸ œ“Ì²‰¶¤¯ ¿˜°œ²á
½«£¹ œ“Ì²‰¶¤¯ µüÛ²Ò „¶š»¯‹¯Ü˜¸™°‰µ¨ ¿¶¤¯‹»¥¯¤° ½ãŠ»¯ã°¾²Ò˜¯—¸.

011/2018-M
¶ü¯š» ã²Ÿ¸̃ ‰
¿À¥ ¶‰¯•¸ A

„¶š»¯‹¯Ü˜̧™°‰à¾²á œ°Ü¶Í«Äà



011/2018-M 2 A



011/2018-M 

A 3 011/2018-M 

  [P.T.O.] 

Total Marks : 100 Marks 

Time : 1 hour and 15 minutes 

 
 

1.  . .,    

 (A)   (B)   

 (C)   (D)  

 

2. “The Master as I Saw Him”    ? 

 (A)   (B)  

 (C)   (D) . .  

 

3.    

 (A)  (B)  

 (C)  (D) -   

 

4.        

 (A)  (B)  

 (C)   (D)  

 

5. 2017        

 (A)    (B)    

 (C)   (D)   

 

6.  .  

 (A)  (B)  

 (C)  (D)  

 

7.          

 (A)  (B)  

 (C)  (D)  

 

8. ‘    ’  

 (A)  . . (B)   

 (C)   (D)   
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9.   –           

 (A)   (B)  

 (C)   (D)  

 

10.   ATM     ? 

 (A) . . . . (B) . . . 

 (C)  (D)   

 

11.        ?  

 (A) 4 (B) 8 

 (C) 5 (D) 6 

 

12. 2017           ?  

 (A)  (B)  

 (C)  (D)   

 

13. ‘  ’ 

 (A)  (B)   

 (C)   (D)   

 

14.     

 (A)   (B)   

 (C)  (D)  

 

15.        

 (A)   (B)    

 (C)   (D)   

 

16.      

 (A)  (B)  

 (C)  (D)  

 

17. ‘ ’     ? 

 (A)   (B)   

 (C)   (D)   
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18. ‘ - ’   

 (A) NH – 47  (B) NH – 208 

 (C) NH – 49  (D) NH – 220  

 

19. ‘   ’     

 (A)   (B)   

 (C)   (D)    

 

20. ‘  ’    

 (A)   (B) . .  

 (C) . .  (D) . .  

 

21. 2014      

 (A)   (B)  

 (C)  (D)  

 

22. ‘     ’    

 (A) . . .  (B) .   

 (C) .  (D)  

 

23. 10      

 (A)   (B)  

 (C)  (D)  

 

24.      ?  

 (A)  (B)  

 (C)  (D)  

 

25.      

 (A) 1.678  (B) 0.762  

 (C) 1.52  (D) 1  

 

26.    

 (A)    

 (B)   

 (C)   

 (D)     
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27.     

 (A) 1986 (B) 1912 

 (C) 1937 (D) 1930 

 

28. ‘  ’     

 (A)  (B)  

 (C)  (D)   

 

29.       

 (A)    (B)    

 (C)   (D)   

 

30.       

 (A)  (B)  

 (C)  (D)  

 

31.        

 (A) 1919 (B) 1818 

 (C) 1956 (D) 1912 

 

32.     

 (A)  (B)  

 (C)  (D)  

 

33.        

   ? 

 (A)   

 (B)  

 (C)     

 (D)   

 

34.        ?  

 (A)  (B)  

 (C)  (D)  
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35.      

 (A)   (B)  

 (C) . .  (D)  

 

36. ‘  ’     

 (A)  (B)  

 (C)  (D)  

 

37. 1953      .      

 (A) . .  (B)   

 (C) . .  (D)  

 

38.    (LMS)    

 (A)  (B)  

 (C)  (D) -  

 

39.        

  ?  

 (A)    (B) .  

 (C)   (D) . .  

 

40.  (  )    

 (A) 10  (B) 11  

 (C) 12  (D) 9  

 

41. ‘ ’     

 (A)    (B) . .  

 (C)   (D)     

 

42. 18-         
    

 (A) 5-   (B) 1-   

 (C) 2-   (D) 4-   
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43.     

 (A)  (B)  

 (C)  (D)  

 

44. ‘   ’     

 (A)  (B)  

 (C)  (D)  

 

45.     

 (A)   (B)   

 (C)  (D)   

 

46.         

 (A) 1992 (B) 1991 

 (C) 1990 (D) 1993 

 

47.     

 (A) .  (B)  

 (C) .  (D) .  

 

48.           

 ( )  ? 

 (A) 1 (B) 5 

 (C) 3 (D) 4 

 

49.    

 (A) 1773 (B) 1774 

 (C) 1775 (D) 1776 

 

50. GST  
 (A) Goods and Sales Tax (B) Gods and Service Tax 

 (C) Goods and Service Tax (D) Gods Sales Tax 

 

51.  ‘  ’  

 (A)  (B)  

 (C)  (D)  
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52.         

 (A)  (B)  

 (C)  (D)  

 

53.      

 (A)  (B)  

 (C)  (D)  

 

54.     

 (A)  (B)     

 (C)   (D)  

 

55.       

 (A)   (B) .  

 (C)   (D) . .  

 

56. ‘  ’        ? 

 (A)  (B)   

 (C)  (D)  

 

57.       

 (A)  360 (B)  368 

 (C)  386 (D)  306 

 

58.     

 (A)   (B)   

 (C)   (D)  

 

59. -    

 (A) 1941 (B) 1936 

 (C) 1931 (D) 1946 

 

60. ‘   ’      

 (A)   (B)  

 (C)  (D)   
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61. They are neither brilliant, nor hardworking, ______ ? 

  (A) aren’t they (B) are they 

  (C) weren’t they (D) were they 

 

62. Neethu as well as her friends ______ honoured. 

  (A) is  (B) are  

  (C) have  (D) has 

 

63. Neither the boy nor his brothers ________happy. 

  (A) is (B) has been  

  (C) are  (D) have 

 

64. You had better________ to the bus stop. 

  (A) walking  (B) walks  

  (C) to walks  (D) walk 

 

65. If had my breakfast, _________. 

  (A) I would not be tired (B) I would not been tired 

  (C) I would not have been tired (D) I would not have tired 

 

66. Teacher to the boy “consults a dictionary”. 

 The indirect form of the sentence is: 

 The teacher asked the boy _________. 

  (A) that he may consult a dictionary  

  (B) that he may consulted a dictionary  

  (C) to consult a dictionary  

  (D) that he consulted a dictionary 

 

67. We could not _____ the inscription on the wall. 

  (A) make out  (B) make up  

  (C) give out  (D) give away 

 

68. The lady kept ____ arguing with the shopkeeper. 

  (A) with  (B) about  

  (C) along  (D) on 

 

69. One of the children _____ intelligent. 

  (A) can  (B) is  

  (C) are  (D) have 

 

70. 2 kilos of potatoes ______ nothing to carry. 

  (A) have (B) are  

  (C) were  (D) is 



A 11 011/2018-M 

  [P.T.O.] 

71. The passive form of “They have done it” is  

  (A) It have been done. (B) It have done. 

  (C) It has been done. (D) It has done. 

 

72. By the time the president came, ______ . 

  (A) the inauguration has already been started  

  (B) the inauguration had already been started  

  (C) the inauguration was already started  

  (D) the inauguration was already being started 

 

73. This belongs to the lady ____ we met in the train. 

  (A) whom  (B) who  

  (C) whose  (D) where 

 

74. Blood is ______ water. 

  (A) thicker to  (B) thicker than  

  (C) the thickest of  (D) more thicker to 

 

75. The American equivalent of British word “curtains” is 

  (A) hangings (B) hangers 

  (C) drapes (D) laces 

 

76. Choose the correct spelt word : 

  (A) Maintanence (B) Maintanance 

  (C) Maintainance (D) Maintenance 

 

77. It was the peak hour of the day. ______ he had to stand in the bus. 

  (A) Yet (B) But 

  (C) Because (D) So 

 

78. The antonym of ‘accurate’ is  

  (A) inaccurate  (B) unaccurate  

  (C) disaccurate (D) None of the above 

 

79. Which of the following is not a synonym of ‘disciple’ ? 

  (A) Attendant  (B) Adherent  

  (C) Agnostic  (D) Acolyte 

 

80. What does the idiom ‘to cut corners’ mean ? 

  (A) To hide something from someone or somewhere. 

  (B) To do something badly or cheaply to save money or time. 

  (C) To say or argue thoroughly.  

  (D) To save something very expensive. 
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81.   4 : 1     . 40  

     ? 

 (A) 10 (B) 200 

 (C) 160 (D) 100 

 

82. – 
1

x
 = –7  x    ? 

 (A) – 
1

7
  (B) 7 

 (C) –7 (D) 
1

7
  

 

83.     10  15   

   ?  

 (A) 150 cm2 (B) 75 cm2 

 (C) 300 cm2 (D) 100 cm2 

 

84.  . 

 (A) 63 (B) 13 

 (C) 23 (D) 43 

 

85. 
1

4
     ?  

 (A) 0.4 (B) 0.725 

 (C) 0.25 (D) 0.257 

 

86.   10.10        

   ? 

 (A) 120 (B) 115 

 (C) 117 (D) 105 
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87. n2, 2n2, 3n2, …..        

  ?  

 (A) n2 (B) n 

 (C) 2n (D) 0 

 

88. ‘FEED’     5443  ‘HIGH’    

 ? 

 (A) 8776 (B) 7867 

 (C) 6787 (D) 6778 

 

89. 180  2%    3% .  

 (A) 100 (B) 360 

 (C) 120 (D) 180 

 

90.     ,    .  

    .     ?  

 (A) 6 (B) 10 

 (C) 12 (D) 8 

 

91. 18  5 – 4 + 15   3 + 8 = ? 

 (A) 99 (B) 90 

 (C) 97 (D) 91 

 

92.  360 km  2       ?  

 (A) 500 m/sec (B) 300 m/sec 

 (C) 180 m/sec (D) 50 m/sec 

 

93. 8   20    ?  

 (A) 200 (B) 168 

 (C) 210 (D) 88 



011/2018-M 14 A 

 

94.      ? 

 1, 8, 27, 64, _____  

 (A) 25 (B) 128 

 (C) 91 (D) 125 

 

95.    , –   ,   +, +  –   (2 – 8  16)  8 – 2  ? 

 (A) 8 (B) 10 

 (C) 12 (D) 2 

 

96.      – “       

 ”     ?  

 (A)  (B)  

 (C)  (D)  

 

97. 10 : 101 : : 20 : ? 

 (A) 201 (B) 400 

 (C) 102 (D) 401 

 

98. 






8

125

2/3

  





5

2

2

   ? 

 (A) 1 (B) 
2

5
  

 (C) 
4

25
  (D) 

25

4
  

 

99.    20%  360  .     ?  

 (A) 340 (B) 300 

 (C) 280 (D) 380 

 

100.            28-  

 .      ?  

 (A) 37 (B) 35 

 (C) 30 (D) 36 
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